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(if) The manual premium M = 1,000.
(iii) The credibility factor Z = 0.809.
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4.C 1 ) & sip 4 £ FEPR/E exponential 4 e » ® T30 5 0 o 4 EIFANERHE A 40T
R EHFR F A2k
(0~100] 32
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(200~400] 27
(400~ 750] 16
(750~1,000] 2
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i% ¥ matching at the 80" percentile % &3+ 0 » T 7§ B 3% B 2 it P f‘g 227
(1) zE <250
) 250§;z i <255
(3) 255=3% i <260
(4) 2% =260
5. ( 3 ) S e T
A A D P i+ foehiis 5
i g 0e | 1@ |22 | 3¢ | 42
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2% <1.20
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+ #icPRjE_Poisson 4 fie o

(i) - ek g A FpHp = &5 2.0 F12p2
(iii) ¥ob- et ifrg A FpH & &5 4.0 232p2 o
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(1) %7 <3.65
(2) 3.65=<:% 1 <3.75
(3) 3.75=:% 1 <3.85
(4) :%1E=3.85
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P(X |0) 9 1-0 20 2(1-0)
3 3 3 3

He 0=0=1> ¢ arahfie 7TREIHAER2E5{2,3,0,1,1,23} 3+ %
6 = Maximum Likelihood Estimation(MLE) - = 715 B 3% £ 2 #cit @ 4 & B ?

(1) %1 =<0.415
(2) O415<F'Z 7 =042
(3) 042<3%iE=0.425
(4) % E>0425
13.C 1 g kp - Asfddc (x)ih- 2R REG 40T !
i F(cj) Btk
X2 0.035 5
2=X<5 0.130 42
S5=x<7 0.630 137
7=X<8 0.830 66
8=x 1.000 50
&3 300

He G LE- BRZ R

+ 5'] ; fod ”2 B2 &cif

(1) ZE<11S

7

B9

7

SRR b

-t

=+ = 23+ (Chi-square statistic) -



(i) w4 E%%’Xéﬁ%“?‘ i’
(RS
éﬁ—ei & Anderson-D
%537
% Ec<1.24

124 <37 % #,<1.25
1.25=3% %8 <1.26
% % #=1.26

4’{ 1‘]" 2
1)
()
©)
(4)

15.C 2 )& v M BA R OFT AT ¢

:300 300 800 1500
ollcy limit) : u=2000
#E & 4 i >+[0, 2500] 7 Uniform 4 fie o
Darling # z_%uz* & (Anderson-Darling test statistic) > = 7

=\
7=
i\
|
B

A i (0) NI w2 B
1~4 0.50
5 0.25
6 0.75

THER - A B A

s={x1, X2, X3, Xa} ={1,1,0, 1}
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(1) 27 % <0.56
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B2 HETE M AT
(2.1)=0. 9821 >
(2.5)=0.9938 -

(1) 0.9778

(2) 0.9875

(3) 0.9897

(4) 0.9935

O (2.2)=0. 9861
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17.C 3

18.C 1

19.C 2

20.C 4

)X1-X2~X3~X4 2 X5 ¥ PRj% _Gamma ~ fie H $8(a, O )~ %5 (1,0.1)~(2,0. 1)~
(3,0.1)~(4,0.1) ~(5,0.1) » & S=X1+X2+X3+X4+X5 > &H moment generation
function MS(3)=?

(1) 9.31
(2) 35.4
(3) 210.63
(4) 300.91

)X PR _Pareto ~ fe > 2 %#(60, a) 5 (100,5) > £ E(XA 70.90) % TVaR90%
)

a. 21.03898.111

b. 21.038 > 213. 986

c. 39.228 - 98.111

d. 39.228 - 213. 986

(1) a

(2) b

3) c

(4) d

) FF - f-wApe o H 58 B=0.4> v=5> %" pk/pk-1 = ath/k 2 25 »
2 p0 = (148)- 7 » A zero-truncated random varible z. P2T=?

(1) 0.23887

(2) 0.27966

(3) 0.25277

(4) 0.28727
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25.C 2

26.C 2

8 d AuiRt T 1-4-1-6~1-8 5 - BB+ > & - 5 7 4p AR &
i g (= ﬁ*‘u{’éﬁﬂi o) 4w T of 2,506 0 T8 L 3.5 8
hT od s 4.5 0 R BRK T e £ (VD=7

(1) 0.60
(2) 0.69
(3) 0.76
(4) 0.80
g * A B GEF N2 LRItk B AIERE 0 e S 5 4/6
WRE ] e 5 2/60 B F MR 0 F i 3/6 mpal e 5 3/6 -

XA B B A B kL RILRRIGA > BIRARZ B4 e

BREEH
35 50 100
Bi 0.5 0.5
B 0.5 0.5

HXempe 5/ M2 LAEWE- BBS > 303 QIREEE | X EsE- B
B AR 0 RS R B R Y BE(EPV) 5 R

(1) 1024. 46

(2) 1,588.54

(3) 1669. 38

(4) 1932. 46

Y* A B R A E AR A TRk S A IR ) o S 3/60 1@
PRl S F 5 3/6BF AeeaZpa 0% 5 3/6 3P ]l e F 5 3/6x i ¥
B BEY B Bk Im gk o B R E B A ST

WP b A

th 4 30 100
B 0.8 0.2
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Bl s 5601 2 ARG - BT > X0 IRIEE | X BERE- B
Wi PR RUR R 0 B R B T g% B (VHD 3 2

(1) 6.25

(2) 12.25

(3) 23.66

(4) 32.12



21.C 2 ) F =B kfi - * Bk g &5 hzk > i 1k o > SRfEn kT 1 SRSk
2 ok Fi enzk o g e F 00 S 3k HE chak o 5 50%HRT e F 0 50% kT HeF 1 -
"EWE- Bk D P10 Bk R E 10 Bxkd 5 00 @ * Buhlmann ¥ 3
Bfpitd gtokH R \p_—ﬁé’ﬁﬁﬁiiﬁ=?
(1) 0.0168
(2) 0.0238
(3) 0.0385
(4) 0.0455
28.C 3 ) A XAEARHTEE I L EXRIN]ZF2AFREEPPLE T F UTF
m
gk =T P(Xi=T) E[Xe | Xi=T]eb s\ 52+ iE
1 5/8 1.4
4 2/8 3.6
8 1/8 ?
E[X:] Xi=8] = 2
(1) 2.4
(2) 4.60
(3) 6.8
(4) 8.0
20.C 3 ) 3 100 B 5% Fodcentd > 29 5 50BE 46505 30BE66 55 20

L
BE8de AuEtr T 1-4-1-6-1-8 HF- BEF -5 - 5 7 40 4R
ﬁé&ﬁﬁkg@ FeAGLE T LA ) 0 FAEA P B o Ak T 6 RIFZE =

TR F R Y = ?

(1) 3.50
(2) 3.700
(3) 3.833
(4) 3.929

30.C 2 ) FTER:

*iEHE 2 E&d 5000 BIpZE G AR AR TR o
B R e IR pR S BORJEE 7 % 8 #ic A ch Poisson A e e
BITRBIFw > ABEREEF $8c(a, 6)5 Gamma 4 fie > a=500> 6=1,000-
BATEANE Y BB T gF 4 55
Bpe=ide b s Bdc
0 4, 530
1 415




2 45
3 10
LT A flenT dok = 2
(1) 0.1070
(2) 0.1725
(3) 0.2070
(4) 0.5000

31.C 4 ) & &

1F % &_ compound Poisson i##%. 4f 4 #f 3 poisson A = 10 per day.
g R Epds e with 6 = 15, 000.

F 4 %20 50,000 AR5 AAFA, E 30X P FA QAL s F

(1) Less than 5%
(2) At least 5% but less than 7.5%
(3) At least T.5%, but less than 10%
(4) At least 10%

32 ( 4 )ETF AR R, T 0% g &
SRR ABARY AL, PEE LI BARY A, 0 Tamiss 509

(1) 2.0%

(2) 2.5%

(3) 3.0%

(4) 3.5%
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33. (2 Dip4tgr~pe follows: % 1% £ =3, % 2% 4L =50, % 3& L = 2000.
8 skewness.

(1) less than 6

(2) at least 6 but less than 6.2
(3) at least 6.2 but less than 6.4
(4) at least 6.4

34. (3 D x AE®E- B bonus ¥4 losses, L,

L #_Pareto #fz a= 3 and 6 = 600, 000.

&% A e bonus EH 245V 5 (650,000 - L)/3, #E#cE L IHEERE0
-8 bonus ¥ E?.

(1) Less than 100, 000



(2) At least 100,000, but less than 120, 000
(3) At least 120,000, but less than 140, 000
(4) At least 140,000

35. (4 )e wwif4 Ao R Gk

f(x) = (1/1000) e-x/1000, 0 < x < oo,

% 500 Spptg FEFEHG 10 BIFLAQED 2
WEAMPAHELP? § 44 2% loss elimination ratio (LER).
(1) Less than 550

(2) At least 550, but less than 850

(3) At least 850, but less than 1,450

(4) At least 1,450

36. (1 ) & &

712 & RS 1 %%wtw n#+i 3B FEgEE TBLE FE

He 12-n 8+ 25 6B 2 4 BRI L ER.

EHE - T ”ff\?é%*“ £- T, 8% L d pEp.

dodk %S ¢ L £374 - 78, &¥5 Bayesian analysis ¥ 2= £ 3B I S £ E
A 0.54. FH3E n

(1) 4

(2) 5

(3) 6

4) T

37. ( 2 ) - #% =7 # % group of independent lives:
Number Death Probability
of Lives Benefit of Death

100 1 0. 01

200 2 0.02

300 3 0.03

Wiy o 2 W4 Benefit 3 PR £ %'& Benefit 1,2 p ¥.
EimAzh i HE RERGOREHFL 4 KER G L TREL
AT S G s TEHFAL A FAPREL 4 |

Determine G

(1) 44
(2) 46
(3) 70



(4) 94

38. (2 ) M&#pF A Poisson A fe. * 3EhFHRLFLHRY
BkFET303 36 BREE, HAHEP EFF 20% VA, BAcx 2T Gk g
90% erid F A 2 A2 5B O% . FEF AR DOV L2

(1) Less than 1.1

(2) At least 1.1, but less than 1.4

(3) At least 1.4, but less than 1.7

(4) At least 1.7

39. ( 4 ) = &
(i) @ p:=k #icd_ Poisson ~ fie
( mean A, where A has a gamma 4 fiz with o= 4 and 6= 0.5).
(i1) Bwppd < [ ZH>2 2355 0 to 500 4 pe.
(ii1) =27 % & 3 44 within 10% of the expected
with probability 0. 98.

P LV ER, PE RV G OREAT IR ik,

(1) 700
(2) 800
(3) 900
(4) 1000

40. ( 4 ) = s: 100 B Risk 5 pa=x #icdeo™
Number of Claims Number of Risks
0 80
1 20
R & Bk, HO, * - &% @ik #ic¥_ Bernoulli 4 fiz with mean q.
« A chi-square test is performed.
« The critical value for a 1% significance level is 6. 635.

3% & q for which H0 will not be rejected at the 0.01 significance level.

(1) Less than 0.08

(2) At least 0.08, but less than 0. 09
(3) At least 0.09, but less than 0. 10
(4) At least 0.10



